1.  
Answer True or False.

(a)
________
a / (bc) = a / bc

(b)
________
a / bc  = ac / b 

(c)
________
a / (bc)  = a / b / c

2.
Rationalize the denominator and simplify:  
[image: image1.wmf]6

3

3

+

. 


3.
A boat takes 2 times as long to go 360 miles up a river than to return.  If the 
boat cruises at 15 mph in still water, what is the rate of the current?  

4.
Suppose you have $18,000 to invest.  If part is invested at 4% and the rest at 
9%, how much should be invested at each rate to yield 8% on the total 
amount? 


5.
Solve the inequality and graph the solution set.  Give answer both in 
inequality form and interval form:  |x+2| > 4.

6.
Solve by completing the square:  4x2 -8x +5 = 0.
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